Aires

#use "iROBOsim.ic"

#use "botball.ic"

void open_claw()

{

    set_servo_position(1,200); 

}

void close_claw()

{

    set_servo_position(1,60); 

}

void up_claw()

{

    set_servo_position(0,80); 

}

void down_claw()

{

    set_servo_position(0,165); 

}

void set_claw()

{

    set_servo_position(0,115); 

}

void main()

{

    enable_servos();

    //initialize simulator

    iROBOinit(RULERWORLD);   

    //use world keyword

    up_claw();

    close_claw();

    mrp(0, 1000, 3000L);

    mrp(1, 1000, 3000L);

    sleep (3.2);

    open_claw();

    printf("First Turn\n");

    turn(100.8); 

    mrp(0, 1000, 2000L);

    mrp(1, 1000, 2000L);

    sleep (3.0);

    printf("Second Turn\n");

    turn(90.0); 

    mrp(0, 1000, 1500L);

    mrp(1, 1000, 1500L);

    down_claw();

    sleep (1.2);

    close_claw();

    sleep (1.0);

    up_claw();

    sleep (1.0);

    printf("Third Turn\n");

    turn(-104.0);    

    mrp(0, 1000, 200L);

    mrp(1, 1000, 200L);

    sleep (2.0);

    set_claw();

    open_claw();

    sleep(0.5);

    up_claw();   

    sleep(1.0);

    printf("Fourth Turn\n");

    turn(76.0);

    mrp(0, 1000, 265L);

    mrp(1, 1000, 265L);

    sleep (2.0);

    down_claw();

    sleep(2.0);

    printf("fifth Turn\n");

    mrp(0, 1000, 200L);

    mrp(1, 1000, 200L);

    sleep(2.0);

    close_claw();

    sleep(2.0);

    up_claw();

    sleep(2.0);

    printf("sixth Turn\n");

    turn(-90.0);

    mrp(0, 1000, -200L);

    mrp(1, 1000, -200L);

    sleep(1.0);

    set_claw();

    open_claw();

    sleep(1.0);

    up_claw();

    sleep(2.0);

    printf("backward Turn\n");

    mrp(0, 1000, -200L);

    mrp(1, 1000, -200L);

    sleep(2.0);

    printf("seventh Turn\n");

    turn(65.0);

    mrp(0, 1000, 500L);

    mrp(1, 1000, 500L);

    sleep(2.0);

    down_claw();

    printf("eight Turn\n");

    mrp(0, 1000, 1000L);

    mrp(1, 1000, 1000L);

    sleep(1.0);

    close_claw();

    sleep(1.0);

    up_claw();

    sleep(2.0);

    printf("ninth Turn\n");

    turn(-117.5);

    sleep(2.0);

    printf("backward Turn\n");

    mrp(0, 1000, -350L);

    mrp(1, 1000, -350L);

    sleep(2.0);

    down_claw();

    sleep(1.0);

    set_claw();

    sleep(1.0);

    open_claw();

    sleep(2.0);

    printf("tenth Turn\n");

    turn(-117.5);

    ao();

}

//global variables used

float pi=3.1416;

float wb=12.0; // wheelbase in cm

int tickspercm=62; // dependent on wheel size

int mL=0, mR=1; // motor ports for left and right motors

int vel=350; // motor speed for turn

// Note that this function handles CW and CCW turns. Also, it tracks motor position

// itself rather than using mrp and bmd.

void turn(float x) { // x > 0 for left turn, x < 0 for right

    long pos, currL, currR;

    int dir; // used to keep pos > 0

    if (x < 0.0) dir = -1;

    else dir = 1;

    pos = (long)((float)tickspercm*((float)dir*pi*wb*x/360.0));

    currL=rsim_get_motor_position_counter(mL);

    currR=rsim_get_motor_position_counter(mR);

    if (x > 0.0) { // turn left

        rsim_mav(mR,vel); rsim_mav(mL,-vel);

        while (rsim_get_motor_position_counter(mR) < pos+currR);

    }

    else{ // turn right

        rsim_mav(mR,-vel); rsim_mav(mL,vel);

        while (rsim_get_motor_position_counter(mL) < pos+currL);

    }

    rsim_ao();

}

Leonidis
#use "iROBOsim.ic"

#use "botball.ic"

void open_claw()

{

    set_servo_position(1,200);

}

void close_claw()

{

    set_servo_position(1,60); 

}

void up_claw()

{

    set_servo_position(0,50); 

}

void down_claw()

{

    set_servo_position(0,185); 

}

void set_claw()

{

    set_servo_position(0,120); 

}

void main()

{

    enable_servos();

    //initialize simulator

    iROBOinit(RULERWORLD);   

    //use world keyword

    //use world keyword

    //wait_for_light(2);

    //shut_down_in(90.0);

    up_claw();

    //sleep(1.0);

    //down_claw();

    //sleep(1.0);

    mrp(0, 1000, 1000L);

    mrp(1, 1000, 1000L);

    sleep(1.3);

    turn(20.0);

    mrp(0, 1000, 700L);

    mrp(1, 1000, 700L);

    sleep(1.2);

    turn(23.5);

    mrp(0, 1000, 8500L);

    mrp(1, 1000, 8500L);

    sleep(4.0);

    mrp(0, 1000, 300L);

    mrp(1, 1000, 300L);

    turn(50.0);

    mrp(0, 1000, 1000L);

    mrp(1, 1000, 1000L);

    sleep(4.0);

}

//global variables used

float pi=3.1416;

float wb=17.0; // wheelbase in cm

int tickspercm=62; // dependent on wheel size

int mL=0, mR=1; // motor ports for left and right motors

int vel=350; // motor speed for turn

// Note that this function handles CW and CCW turns. Also, it tracks motor position

// itself rather than using mrp and bmd.

void turn(float x) { // x > 0 for left turn, x < 0 for right

    long pos, currL, currR;

    int dir; // used to keep pos > 0

    if (x < 0.0) dir = -1;

    else dir = 1;

    pos = (long)((float)tickspercm*((float)dir*pi*wb*x/360.0));

    currL=rsim_get_motor_position_counter(mL);

    currR=rsim_get_motor_position_counter(mR);

    if (x > 0.0) { // turn left

        rsim_mav(mR,vel); rsim_mav(mL,-vel);

        while (rsim_get_motor_position_counter(mR) < pos+currR);

    }

    else{ // turn right

        rsim_mav(mR,-vel); rsim_mav(mL,vel);

        while (rsim_get_motor_position_counter(mL) < pos+currL);

    }

    rsim_ao();

}

